

සදිශ සංඛ්‍යා

පහත සඳහන් සදිශ සංඛ්‍යා එකතු කර පිළිතුර ටයිප් කරන්න. උදා: $(-2) + (-3) = -5$

(i) $(+7) + (-2) =$

(xi) $(+7) + (-5) =$

(ii) $(-10) + (+4) =$

(xii) $(-8) + (-2) =$

(iii) $(-3) + (+6) =$

(xiii) $(-2.1) + (-9.1) =$

(iv) $(-5) + (+9) =$

(xiv) $(-8.1) + (-1.3) =$

(v) $(-11) + (+4) =$

(xv) $(-3.6) + (-1.8) =$

(vi) $(-4) + 0 =$

(xvi) $(+4) + (-2.5) =$

(vii) $(+9) + (-8) =$

(xvii) $(-5) + (-3.7) =$

(viii) $(+7) + (-15) =$

(xviii) $(+3) + (0) =$

(ix) $(+5) + (-6) =$

(xix) $(+5.7) + (-3.9) + (+1.4) =$

(x) $(-7) + (+5) =$

(xx) $(-1) + (-1) + (+2) =$

